All-India Institute of Medical Sciences Ansari Nagar, New Delhi-29

(RESEARCH SECTION)

Ref. No. 11/Prop/IRCH/RG/2020-21/RS

Dated: 17.11.2020

Subject: Purchase of Reagents and Consumables for the Deptt. of Lab. Oncology, IRCH,

AIIMS, New Delhi-29 on proprietary basis- Inviting comments thereon.

\*\*\*\*

The request has been received from Dr. Ritu Gupta, Deptt. of Lab. Oncology, IRCH,

AIIMS to purchase the subject item from M/s Solution One (Mfg. by M/s Becton Dickinson

India Pvt. Ltd.) on proprietary basis. The proposal submitted by M/s Solution One (Mfg. by M/s

Becton Dickinson India Pvt. Ltd.) and Performa Invoice and Departmental PAC certifications are

attached.

The above documents are being uploaded for open information to submit objections,

comments, if any, from any manufacturer regarding proprietary nature of the equipment/item

within issue of 15 days giving reference No. 11/Prop/IRCH/RG/2020-21/RS. The comments

should be received by office of Stores Officer (RS), Research Section at AIIMS on or before

02/12/2020 upto 12:00 p.m., failing which it will be presumed that any other vendor is having

no comment to offer and case will be decided on merits.

**STORES OFFICER (RS)** 

**Encl:** Related documents enclosed.

1. PAC Certificate enclosed.

2. Performa Invoice



tel:+91-124-3949390

fax: 01 124 2383224/5/6

BD India PVI Ltd Regd Office 204, Tolstoy House,
Haad Office 5th & 6th Floor,
Signature Tower B, South City I,
Gurgaon - 122001, Haryana, India

## PROPRIETARY CERTIFICATE

## To whom it may concern

This is to certify that BD Biosciences is the legal manufacturer of the below mentioned catalogues numbers. These are proprietary items to Becton Dickinson (BD).

S. No.	Part no.	Description				
1	557852	CD4 - PE-Cy7 - Anti Human				
2	562635	Human CD7 Brilliant Violet™ 421 Monoclonal Antibody 100 Tests M-T701				
3	562692	Human CD14 PerCP-Cy™ 5.5 M?P9 100 Tests				
4	557741	CD25 - PE-Cy7 - Anti Human - Clone M-A251 - Isotype Mouse IgG1 kappa - 100 Tests				
5	745070	Human CD34 BD OptiBuild™ BV510 8G12 50 ug				
6	561632	Human CD95 BD Horizon™ V450 Monoclonal Antibody 50 Tests DX2				
7	562517	Human CD123 Brilliant Violet™ 421 Monoclonal Antibody 50 tests 9F5				
8	562781	Human CXCR5 PerCP-Cy™ 5.5 RF8B2 50 Tests				
9	562515	Human CD196 (CCR6) Brilliant Violet™ 421 Monoclonal Antibody 50 tests 11A9				
10	562555	Human CD197 (CCR7) Brilliant Violet™ 421 Monoclonal Antibody 50 Tests 150503				
11	564769	Human CCR10 BD Horizon™ BB515 1B5 25 ug				
12	561049	Human Gamma Delta TCR APC Monoclonal Antibody 0.025 mg B1				
13	559925	7-AAD Staining Solution - 2 ml				
14	340334	Trucount Absolute Counting Tubes IVD				
15		BD Facs Suite Software				

This information is true to best of our knowledge.

Yours sincerely,

For BECTON DICKINSON INDIA PVT LIMITED

AUTHORIZED SIGNATORY

5 886 1/11/2020



Life ∞...

PROFORMA INVOICE SO/AIIMS/20-21/1239R

To, Prof. Ritu Gupta Department of Laboratory Oncology AIIMS - New Delhi

Date 23.10.2020

S.No.	Item Description	Cat no.	Pack Size	Qty	Offer Price (Rs.)	Total Price	GST%	GST Amount	With GST Price (Rs.)
ì	CD4 - PE-Cy7 - Anti Human	557852	100 Tests	4 1	21721.22	86884.88	5%	4344.24	91229.12
2	Human CD7 Brilliant Violet™ 421 Monoclonal Antibody 100 Tests M-T701	562635	100 Tests	4 1	-25770.94	103083.75	5%	5154.19	108237.94
3	Human CD14 PerCP-Cy™ 5.5 M?P9 100 Tests	562692	100 Tests	5 V	23930.16	119650.78	5%	5982.54	125633.32
4	CD25 - PE-Cy7 - Anti Human - Clone M-A251 - Isotype Mouse IgG1 kappa - 100 Tests	557741	100 Tests	4 L	22825.69	91302.75	5%	4565.1375	95867.89
5	Human CD34 BD OptiBuild™ BV510 8G12 50 ug	745070	50·ug	8 V	36447.47	291579.75	5%	14578.99	306158.74
6	Human CD95 BD Horizon™ V450 Monoclonal Antibody 50 Tests DX2	561632	50 Tests	4 V	14726.25	58905.00	5%	2945.25	61850.25
7	Human CD123 Brilliant Violet™ 421 Monoclonal Antibody 50 tests 9F5	562517	50 Tests	10 V	18211.00	182110.00	5%	9105.50	191215.50
8	Human CXCR5 PerCP-Cy™ 5.5 RF8B2 50 Tests	562781	50 Tests	8 1	18407.81	147262.50	5%	7363.13	154625.63
9	Human CD196 (CCR6) Brilliant Violet <sup>TM</sup> 421 Monoclonal Antibody 50 tests 11A9	562515	50 Tests	7 V	18211.00	127477.00	5%	6373.85	133850.85
10	Human CD197 (CCR7) Brilliant Violet™ 421 Monoclonal Antibody 50 Tests 150503	562555	50 Tests	8	18899.00	151192.00	5% is	7559,60	158751.60
11	Human CCR10 BD Horizon™ BB515 1B5 25 ug	564769	25ug	16	17303.34	276853,50	5%	13842.68	290696.18
12	Human Gamma Delta TCR APC Monoclonal Antibody 0.025 mg B1	561049	25ug	4 1	11928.26	47713.05	5%	2385.65	50098.70
13	7-AAD Staining Solution - 2 ml	559925	2ml	2	3570.00	7140.00	5%	357.00	7497.00
14	Trucount Absolute Counting Tubes IVD	340334	50 Tests	8 L	25500.00	204000.00	5%	10200.00	214200.00
15	BD Facs Suite Software			1	FOC	FOC	FOC	FOC	FOC

TOTAL.	1989912.70				
NET TOTAL (INR)	1989913				
TERMS & CO	NDITIONS				
DELIVERY PERIOD	4-6 WEEKS				
VALIDITY	60 DAYS				
PAYMENT TERMS	30 DAYS AHMS , NEW DELHI				
PRICES F.O.R					
Please place your order at and					

For SOLUTION ONE

एन एस आई सी

AUTHORIZED SIGNATORY

\$ 3 comps

## An ISO 9001-2015 Certified Co.

H.O.: 6935/1, Mezzanine Floor, Jaipuria Building, Kohla Pur Road, Kamla Nagar, Delhi-110007, India Tel.: +91-11-45525852, 23854270, 23850876 Lucknow Office: LIG-148, Ground Floor, Near SBI ATM, Jankipuram, Lucknow (U.P) Mobile: +91-9818515460

Chandigarh Office: Shop No. 12, (Sarpanch Shopping Complex) Sector-41D, Chandigarh-160036 Mobile: +91-9818515460

e-mail: soluone@gmail.com, info@solone.in Website: www.solone.in



## PROPRIETORY/SPECIFIC BRAND GOODS CERTIFICATE

1. Item/Type/Model No. required along with Specifications

Flowcytometer reagent and consumable

2. Is the item a spare part attachment or accessory for an existing equipment

No, reagents

3. Name of the manufacturers/supplier

Manufacturer: Bection Dickinson India Pvt. Ltd.

of the item proposed by the indenter

Supplier: Solution One, India

4. Are they sole manufacturers/sole distributors of the item

Proprietary item

5. Is there any other item with similar/ equivalent specification available in the market to meet the job requirement envisaged? If the answer is yes, why the same can't be procured. Demanding Officer should bring out comparative functional advantages/cost effectiveness of the recommended item from these offered by other

No, the above items are of proprietary nature

6. What were the efforts made to locate alternative source of supply or use other substitutes

M/S, Solution One India is authorized distributor of M/S Bection Dickinson India Pvt. Ltd (Authorization enclosed)

7. Why open/limited tender can't be restored to, for locating alternative source

Proprietary items

8. Are the proprietary items certifying that the rates are reasonable or not

Yes, Certificate enclosed

9. Any other justification for procuring item from single source

None

I certify that the item at SNo. I above is required to be procured on single tender basis as the source of supply is definitely known/the specified brand proposed was advantageous in meeting our requirements and limited tender system could be dispensed with as they would serve no useful purpose this particular case

Signature of Indenter

(Demanding Officer)

COUNTERSIGNED

(Head of the Department)

गुरिन्दर कीर Dr Gurvinder Kaur